[ Efficiency vs vertpos |
~ 0.2

SRRT, SRS M- S— 5
%) - . . .

Z0.16[r i Feeeeeees
o = : : :
014 oo ;
S : :
$0.12
0.1
0.08fF -+ P B -

...................................

...................................

TS S Bt
0.04F -+ e :

"
d
e

ossftlH - HHEHFEEHEHHEEH LN

09 : ool
1072 107 1

—ehoC

11111

10 0?
TP vertr (cr%)
Efficiend —— %g

Icm%rég sratvector—teeeevt
ﬁs %%igﬁ 1RO TLIERS 1000evt
~ 0.5

L S e o

A B
2 04F b
TN T P o
T N RN ———
[©] F : : N N N
B Rl S S [ S
7R R TN
S
R

0.08F--rherfric e

1.0

Ratio

o
©
4]

b
TTTT[TTIT[TTTT[TTTT

10 20 30
TP vert z (cm)

IO
wIP
o

l
o

|
[N
o
o

[ Efficiency vs. sim PV z |
~ 0.7
>
80.09
£
£0.08
£0.07
oy
.6 0.06)
o
£0.05
()
0.04
0.03
0.02
0.0%

1.9

Ratio

e

o
©
4]

o
&

5 10 15 20
Sim. PV z (cm)

ik
o
o



	Contents
	Page 1


